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Kim, Chang-Ik (2003). Pragmatic contributions to the identification
of explicatures. English Language & Literature Teaching, X Special
Edition), 143-165.

This paper is aimed at the investigation of pragmatic contributions to the
identification of explicatures. An explicature is the result of fleshing out
the semantic representation of an utterance. The basic assumption of the
paper is that the process of the developing the semantic representation into
an explicature depends heavily on contextual information. Therefore, we
are concemned with the way in which heafers use contextuzl information
to flesh out or develop the semantic representation of an utterance. The
identification of explicatures includes both the recovery of the proposition
expressed and the recovery of what we called higher-level explicatures.
There are three subtasks involved in the recovery of the proposition
expressed: reference assignment, disambiguation and enrichment. On the
other hand, there are two subtasks involved in the recovery of higher-level
explicatures: attitudes and speech acts.

[explicatures/ semantic representation/ the proposition expressed/

higher-level explicatures/ reference assignment, A <]v)/e) o] H4/
EYY AN F=9 QA ) u/AA ]

LA 8

gsjel #2174 oojig 2YHeE A= Ao} WdoH FuE THHAUN
@ohe) 2L GA Wek T 2BelE T A EATH FAY0) % FHolct B

1) 2724 ouig 44 snjgn $re @k &2 sjuls PALn]g Es oo
s 2 ol fE BAYE f=A FANYE U0 EUHT BIA YEAe 4
T ey 22 fule wheAl G0 s FUEHA) W) gEejrt
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ool SH-E3 89000 os Uste on Y 4L FAAY BT tH(Sperber &
Wilson 1986). 224 HAlovle ¢3d B4 2214 W42 gol ot ofd H g
&L 233 o7t (50] Hol i3 ¥ VAT T2 AL 2l o A4
Hi etk &S 52 oriE ¥HgkA dor 2308 o2¥E NFFHA 5
& AR o7 F F89 Aol TAHY A2 ¥HE7IZ ar.

(1) Your paper is too long.
(2} The article that the hearer has written is too long for the conference.

A (1)3 22 3% T YA dgop) vjglely Jug FHsld FAlguel
(2)8 =28 A7 HAeld ARE FEE o, 2 ol &4 og E 99
FEL AR & 92 AojF &A45 A} B GA Aoldle 09 @A
7t gick olgk d=Hq) ()3 )Y 4§ BA

(3) A: Did I get invited to the conference?
B Your paper was too long.
(4) Speaker A did not get invited to the conference.

H @¥ A9 F&4 U @B dgdM PA34)7 =&3A 2 FAld
GR)8 €37t ZE AoA £43) (1)9] FA Aoldle AUH VAL Uk AAl
% (49 =&E A7t BRRG 2 FHE YAQ2YE e 23L 28 7
e U 5)Y ZHEY ofelH 233 veidoh

(5) If your paper is too long for the conference, you will not be invited.

A A, (s A7) Uy s EHE 348 =ad ¥ se =2d
T e & 98 g et

ol ¥ FE T, BAYvE 5 vy 74 B ddA thd B
AUk 2R E FA 07 B GdA dFelA 47 dEe] o)A BE 3P
AdAe 2&ck a2y gA v F92 a A dedA] gk shsd oA
€ B9 49§ Woju st 23 gdsy) gl aelex A0l 73
2 A7 A Y A EE HYss A AYE wAA U

ole] ¥ =AolM & =& 9JAor]e] FEo BEE HEEY J9E B, g
3 #in) o8 18 Folr moiFle] & B 742 JHEI o] o} 7
Bl 49§, 123 39 729 YA 0 E wole gaas I 53 393 T2
8 WAdule £ =84 Aozt ¥ £ 3t FEoITh AR ¥4 WAgvE
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9A Waez YTk shie) Yaist el BA YA HAAA, 1 wshe Be
274 2 oe) o7l 2 pET BT, 2o 4 JPYE AN 7Y
4 ool 282 7|8 AAUZ F1&8 UAPE o) e, Ede) FERe
2 Ui A b F9EE DA ANET U802 £Y9 8 4o YnLy)
2 84,

It 2 Al gimol 28t JA|in|

duti oz B4 8 #e ¥53 BdE U AR oAk el By
A guiE st Vdse AP Eo REEAE B4 Hez dIH WM
Aich 2y Ao gdde U YRER o TLE YL s glonm
2 AF3A qRojHe}l ¥ Aotk o] R AT HY £ A 99U T4,
g4} 5o Wy 2Ea AANANAH 5E gdd JAnE AWRAd. 44, F
glge] AfolA dgYne] 7|4F sz W

1. Sy

g @do] ¥ 74X o)ge] ojvlE 71 of, 7 @2 E FYNYE Mt P o2
g Foge 44 doiAgolA AR2gA disy oM B8] ¥4 gEd 2
AL At F4E HANA F2 7] gEeldh O 6)9 A8 BIZ #3

(6) At Did you enjoy your holiday?
B: The beaches were crowded and the hotel was full of bugs.

22 bugst 04 E 2 BT of Wolk Wabe] Tah P d's) £& 7
Atk o F 71 £ 7k 83t B old 0@ shYsta w e a1 AT e
9 3¢ 278, 33 At dA7H) 4R WEE AL 4 ok A, B
F57H AP Wl AYE & + AT BUEE SH SR U, Pl
oo 15 £A4A ks APUEE AT SE Ao 2 A% AL Fobs B4
of A LF ABolA 7 wrhe WAl of BE BANE =7 Balohid} o) P2
¥ 4 dE FAUELE S Ak oA Fbsh Bt e BEEN U
Anz rigto} 758 Aol old WAHRE Jatd thg (D3 Dol Mol &
295 o] “ge'zs] AYE PHE' AHRc BYYe] FolAA ¥,

(7) The beaches were crowded with people and the hotel was full of insects.
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Aol Fo]dE Aidtd YALUE 0L H237) ANME 88 AF ‘ﬂi
7t A3 Wad RAelrt, o12F A PG 7hez st JPd FAele AR
B2 AgER ¥dE Qi ‘FohE 34 RulA R F5EA A

2. THEAL ol ol

F9043 szt L, DA B2 Ratel 2o EAE WA nlE gA N
Uehio) Sish 24 us Auel 588 W vk uA B8 Wge oo
A4e AN BEEH A Fuo Boz ANE HolR 5 Utk AN B
Sk g} Sols AR gl W] AN R RodE 0L B)Y) 4 uolz
.

(8) a. He'll never make it.
{said while watching a man climb a ladder carrying two pots of paint, a
scraper, a toller, a brush, a rag, putty and sundry other items.)
b. 1 left your mail on your desk.
¢. The plumber came and he'll send a quote.
d. Evervone came to dinner last night and Jones got tipsy.

HEEH AL (Ba)olM he?t AN B AE SAFIL, @A lefts] AANA
7t AN B AZRE deidd. @9, EoelM e hest Bd)RM S got drurke] #AA
A 2 B3ug g A 239 AN E G 18 Ge)olA her T Ao
plumberst 39 AN ZE 71El7) 3, Bd)AA Jones7t €/ Al & 2344 A
FH TElY Agholch o7l g wigtg AT AAELS Ao HFE FH FAHNUA
g, Wgs B3 Atele] A2 AT H o gulitae] o Ao ot «H2) #
4830z d3sa gk

3. ANHAN BN
B AAAAA £829) Agolch AAAY Edold $e 2F U A4

S 98 AAZQ WAooz 2y Ao AFdte FHUEL £UY 2AHA FAA
A4 A oE @9 B2 FPECT.

2) ANAAY 3L F A G2 A e deictic expressioneld, &
8}z indexical expressione] tHKearns 2000:272).
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(9) yesterday  today tomorrow
last week  this week next week
last year this year next year

I, we you
here
now

this, these that, those

@ @2l DAAANEEL ohe ol 719 el ZA ek 33, AR, wd Al
A A, aea Ak fRold. 98] EEEL °IF DA ES BHe Y
== Aoltk U, yesterdays 23}t HdE AA82, this mominge H3 24
olHE AN, yout FAE AMYY. B this, these, that IT] T thoses 24|
A ZA ofE Ale]d dlze #Abst 7hakd ARl A EL£ A YA 9leA]
o 98 st This, these, that 121 those=] A|A|F $Y= FFH 22 7187}
E ¥33 dE=oA 289 A7 FEd JEUchE Hof EH 3K A Ao o]k

NAE AT AAAA FAolth #A, A, L oA AE 2 goe] At
woh gAY, 2AY, UF Ao 2 AMdn. o3 ¥ A delx AME At g
9 &8 AdE BAEA7) AR Fue AGAPRE AR BEY

HAAAZ gole Y 2v| ZAME AL Eled) ol FYdd et E & et
7] el AHS-Erk (94 BEE Yol Folg §H7g¥0] ANAA o2 EHd
st @47)gc] dAZoflA oj§ 2 e o8 AAFed ALEE £ Q7] dE
ojet.

ASAA E9e] A FYeol] 3¢ A& 7z Rt o)E Al JHE =
FOEYEL ke dE FHAI ez 2HRVIZE A dS (1008 Keams
(000)25H U2 do|c} HEE8H 20| o%A FAooje] Fo 7]ejd=x]§
4RE72 g

(10} [ saw Jean’'s new plane vesterday.

(10)9] &2 19874 1049 0% 23 649 ZRHUG 2 34 109 FA44 o)
E d=Hez dg (D3 2

3 $A7)E(definite description)@l $HE ABARRL theR o|FdE AT EHS T
o}, oA, the man, the aat wearing a bell, ¥°1t}.
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(11) *At 2 time before the time of utterance and overlapping the day before the
day of utterance, xi; saw Jean's aeroplane or woodscraping tool which
was just bom, recently manufactured or recently acquired.’ (x) & @Y 22
A 994 @58 velin, 39019 plane newt or® EAH)

ol A% o AU 3] HF H2EH ARt OE (129 Pl 371 4 Ak

(12) (B2 Smithei®, AR Smith7t F2htelA whd I79 Jeand 19879
109 199 ob3le] e ALAE gbv) w2 A7HE 1987d 109 209 24
6Alelch)

« I & SmithE AAE,
»sawd] FAA AT 19873 10% 209 24 64 o]AY A FAH,
s yesterdays 48t 94U Adg AN
Atde] AJzhe 19874 109 1994
{7z 9= 371
« A9} A1 1987 104 199 o1, Smith?} Jeand HEde ¥4
[Feld #l2]
= her new planet a woodscraping tool which Jean has recently bought%
A #

o3 =4 f2l& (10), (11), 1208 244 2§ 1P a, b2 FR H 2 & &
At at Smithe] BBo| 2, b Smith €] HAH o), ci= Smith 39
B r]ejn A zAcjh

(13) a ‘I saw Jean's new plane yesterday.

b. *At a time before the time of utterance and overlapping the day before
the day of utterance, xjs saw Jean's aeroplane or woodscraping tool
which was just born, recently manufactured or recently acquired.’

c. ‘During the moming of 19 October 1987 while visiting Jean, Smith saw
a woodwarking tool which Jean had purchased shortly before 19
October 1987,

ABAN 2R A doe] BH SHLEN sl @ Yo u ey 2 FALu)e
FIo wa ek BE2Y slojE fE AF Aol ¥ Mook
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m. 7|Et S0l BE HSEH 7|0

S AAA 94, A g4 9Y, 22T FANAE Y A HEEF 7|
7t Q&€ wolBgert ¥ FolMe Jete YoMz B8 EH BRI JA v 7
Fell 719% 7 J5& 4¥Ey Ao

Carston (1988)2 & 'd3e] BA2iv)g 8J3E 3] A& YA ¢ &= 3
Ag Ao AN $4E F& Hna do olgH AdE BodFT] Y4, 7lEe
FHERAM I8, eough R toost 2L 22, 272 ¢332 Lo By e
372§

1. Al

AA FHAle] FY L =oEr|2 8 thE (148} T o el Fdeg 48
dW

(14) The park is some distance from my house.

(199 £YE Ev Ye Sed) 24 o], AA] 1o, 34 Y4, 28z 4
AAA BEY AT 7231 FXE HE shte] gHE WAE H4AND F
fick metA (149 =Yt F2XE 7+ e S4E 9Ar Hw,
dismnces] ¥ Aeigle A YBtA} somes] EAE Ao ¥

o] AHd & AABEA (14)¢] HAjelv|E Al A4 g3 Foh 94, mys}
the park®] AN W F7F R} myst the parkoll 4% AA Qg F-ojsiM 8
A& Soameso| i1 FUL Hyde Parke} 8 4~ S1thd, ch (159} 22 A ¢] WA
g A4Fez B4Ad ok

(15) A distance exists which is the distance between Hyde Park and Soarnes’
house.

ol FAejele QAo W} Saames?} A D& sHeA ohdAE 4 F AUk 29
B2 (15)7F #0715k 313 Soamest # D& 3 2lE Aotk 22y 1 Fo] Hyde
Park ¢tel 814 9otz 7PASHE, vIE O FHe] 2 A% A Al [lo gAgE
¥73] 0 A5t 2 T4 Aoleli= YrtulbEs) Ayt lvke @o] "ok 22)A 4 (15)
7t A2 AL RiEg, a7t 39 2 Jvel 43 ldaE o & 98 da dd
€ Ao} Hed v o] Fo)l f2s Ay odh 33 (149)% ¢y oo
Soamest= 1 T4 A9 Ao Ay 98 FolA T ¢ dEeld &2 A



156 S

U ga'els gy gt 242 Aot AAR 27 T4 2 due) 4z gdohd,
ae AALE sz Q= Mol 748 Soames?t E9hA AFE AdE=AE 7t
Eoluynta dal o] Al (140 it HAlge)es & (163 2L 3ol & «
okt

(16) The distance between Hyde Park and Soames’ house is so great that it
would not be convenient to walk from Soames’ house to Hyde Park in
order to walk in Hyde Park,

a6} 718 AEE AN, QA A R #H4, 222 FAY A4 TR
FH =&HE 2] chqth 0|9 HE FsiAe) HHozRy Ut ol H=d
7} o (7)ol

(17) a. It will take us some time to do this,
{a long time)
b. They have money.
{a lot of money)
c. Hold the noise down for a minute, 1 think I heard something.
(something other than the noise you are making, and unexpected or
requiring investigation)

A ODAA & FEE A GHAE ZYED 2o o24H BE ¢
&d 7l A2 g =a&stA 4o

2. enough® too

B2HAY ol el E enough, too%t Z& EREL PRI E FHE | H8EH 2
o] Yasc o (1818 4vpa

(18) a. We don't have epough rice.
b. The park is tgo far from the house.

9 U8)ANA enough® toost 2L ETE, AAZ PAIFHR & EFe]u P
BAs, 4 4o ¢ FUAY Ayt 282 AL Helin Ao olH g
Wil the (19e)M WAooz BAHR v BE 3 £2& 23 Ui
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(19) a. We don't have enough rice {o make cunrv and rice for three people.
b. The park is too far away from the house to walk the distance in half
an_hour.

A2 FAHA BL SHoY HFEE U oMY HEAL o v]2a WY o
o7t Basd o gk o] AHdE, thA ¥, BE-EY PRI} o5 FHo FE A
or] stgel 9FE A1 US4 7 A%

3. dFE o

823 8] 9% vAe E OE 990 439 ¢y 43 E3=
nd= JZE FEY TUE G Grice (19771 5 ojv|d 4FE o, andof &
@ Arlaiy e AT FEE o BEF £4¢00) AAEE AHE o Y. ol
SR, andel B =2 4, F AR 2 ov] YL FrFojof & Aol

o (20-23)2 Carston (1988)°] MAISIL 31 and®l #¢ 9 747 4o, 2}
AL be] AE 7R BE A Bito] QY wEA $44 2715 vEE AR
d¢ »9Fn 3o,

(20) a. Alice apened the wine and poured a glass.
b. Alice opened the wine and after that poured a glass.
(21) a. Jackie has won the Golden Kiwi and she's going to pay off the
mortgage.
b. Jackie has won the Golden Kiwi and as a conseguence she’s going to
pay off the mortgage.
(22) a. Stephen was tuning his bike and he was listening to the cricket.
b. Stephen was tuning his bike and simultanecusly he was listening to the
cricket.
(23) a, We looked into your Mr Sutton and he has been fiddling his taxes for
years.
b. We locked into your Mr Sutton and consequently we discovered that
he has been fiddling his taxes for vears.

Ho1A & 4 5ol andis dlg) 71X AAE 714 shtel 39F oz Ao
of ok AlISe] Rk 224 ands] UL (24)0M B FRo] andd Fiel
#4517 42, o H E¥e] 49 9% Aeldh



158 3 %9

(24) a Alice opened the wine. She poured out a glass.
b. Stephen was tuning his bike. He was listening to the cricket.
c. We looked into your Mr Sutton. He has been fiddling his taxes for
vears.

A8 AE and®) SHFE Y4o] addtel i@ ez RIHTe] i Aeldn
O adz FHHE FAHB0] OB A= Aokl AeEHos B 3
¢ 2o 2 o] HEEQ X BEE HHol ohle}, FArlol Selok Bt
Aeulsh 22} Aol yeshod T8 ol the WlolLt Selo] el 253
eped,

(B) (Jonese YA 28 Y3 dul2 ¢4 e sick @AY d: =
A oA AT7E A Agelh a2 AFEe] o] Hel J&Hry)
a A Jones has transformed himself again recently.
{#2 ' Jones has a new girl.)
B No, he hasn't
b. A Has Jones tidied himself up lately?
B: Yes, he has.

9 o= (%)) B7} BoFE whde] WA Snitg AGY ¢ 3lolM, Jones7t
GAH el HArie ddte 2ae] MY AY $&3E T H3] o @
o} 23 "M (250)9] A9 FE] Jonesdl Al N2E A7 AR e
24 $&Y S QAT B AW Jonese] AAFAN B0 & 8 @8}
£ 3ol o}, 227 Joness) Q2dgt P PAjH FFAD dgsiz Y=
Rojt}.

and®] 2713 ARy gEae gded o dE 068 A% 20bAMNFH AL
A2 £ME 9use gter that 32 subsequently® F71 70t

(26) A: {(to the director) ] light her cigarette and she smiles, right?
B: No, she smiles and you light her cigarette.

G471 % 2@ AL AAES 247 B e Bxolth, olR & subsequentlysh
e 31 Azt AN Auld) Eisiolel e RE B F2 Nk

& AEC| AAHHE AL #A4H Avist Y A Alol2] Fel7t AA) #e 5
Zo4 9429 13E & Yot oW, FRe VUYL WAS LLATY) AN
stas) B9 348 T8 3ol dohe Aol TRz AR Juiud
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3He Potel A8 TAY G BAS) Blolwt TAA W BRY YA LA
A& ojsoi Ao} ¢ Aol

V. 491 T=9| BAIID]

g4 ARE 7I€ste BA 49 e g dEEA0IUY. 1Y B¢
e Euto 2 PAE @] ML 3] RAAZ & k. 2d)do
2 FoAME B3 FAAA =29 4AE Suigte] gk 533 BA @ g FA
& #79) 944 9= Yehl= 49 H4(higher-level clause) T2 FY4#H
TE HAE Tl of2 g WA HEH o5 4YH FEI BAR B FAR
¥ B4 347 PN Jehte 28 P49 FAY et 1A FAH HE FA
o 444 F=E A9pr|g @

1. BHY e Al 49H =

HA471 ohE (20)9) 28 RM, FEEH o2 (Ba)d] S3¥ FA & ALsaR
=g 4= 3ivkh

(27 I've got a Iot of work to do.
(28) a. The speaker believes that he has a lot of work to do.
b. The speaker regrets that he has a lot of work to do.

T O g T 3L A AN AdZiRdE FAd A dAle) g
of vk ol8E + sich 2B YAz} Fesfo} st shie) RatAls o 9AH
HEZ g¥de dolvh 4 HEE RER YL 37T (27) AA o]¢d T
& A2 Fe A BeA Y £ 8 Aol fALEE (28 dddte He
(28a)s} (28b)E X@UT.

A7 Bee A9 229 An HY BEA FA 7} HEe RE ojvd,
209 BAl= 2B0)MH 27} siof (9 49 dof ti3] 20X AR WA A
HA FAEE Auhe 5% Aok 38 ELFF SolME /29 E40] A Y&}
WA & FE gl obdE Ay 298 {f4E AL EA AES A=Y v 9
t} I ARl A7jeln Fzde AL A6 E 8P o, 514Ee] Jlke] ==

4) 48 Ae 28 o 289 ‘The spedker believes’s}t ‘The speaier regretsel #
8 3, tarelde] REN 4B E o7 DA {moposition)BaL A g
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A4 AR 1339} o) Hojoby wrte AMdeln,

St #(speech acts) o] &2 ol2@ o] WAH Hne} Bt w2 F sle
FTRE AT 9oolch O AFoA g U Y Edd F e AN P2
BHE B3 WAHvE) E 42 FEE =9srlE @

2. sgint Mo Fx=o Halolo|

S0l B¢ dF71d ¥A o (205 2 Uile SHE| 2 A (29)8) ¢ne
ae® shie AR H45A gn A4 o= gt AFF JAZ HAE &
21ch(Blakemore 1992).

(729) There's a snake in the grass.

(20y2] HAH= ‘¥ olely el Yt e #5E € T A1 FEE ¥ = 2w,
AANA Bn¥ £ Ut BE Wol AR HE Y 7= U 4RAE
E@E £ Aok olsh o] ohddt Halo] #F shedolat o o] HYPL ZH/Y
s BAZ RYH2 Ik 2HE2 Q7 E €0 Hol sirke HAE 2l
ERY ez 483 dheoAME ¢ 90 3149 o= ote Hegs Ehae 5
Hol Ay BAZ FHEooF 2 FAHZE F2E o] veRd Hejrh S, (29)
7t 439 fgelatd, 1AL B F GO 2L P49 A {RE oxg Ao
£ F %

{30} The speaker of (29) is warming the hearer that there is a snake in the
grass,

a2z (30 2009 HA LW, (el & F AKX, Fug HYe ¥4
T EEHIL 3ot

¥, staol 8 2L B FRIF A FAAM T AW AR B A
ojmj 228t Wate] o3 JALLFE AL 230 HAW (Y 7Ho] e A
olch 4o, Ang watuzl s Alge 27t Ang Ha vk A§ Aol
ok B8 £58 Sud s AE 271 358 32 Adoe AE ALl 9
8 5 B4 I ARE 7 F5E BT dE A& A e & 3
Tl HAe sUd By FEE AW ¢ 01T EE U E ols3A @ Aok
A SJAATE HHfol Bol mEY d&dl 2t =g Al EXV} ok,
54 #de 3YE FREt 2 =g dHe FAeltiBlakemore 1992).

gty EREe YoM ofn ATJE FF, F 1, 4, 5, Y, U=EF Y=
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Lll?l&.%‘r?‘:.- A, BB A, AHE Fe A 9dste A 2343 A Fol At
ol @ 4] ERE FAiH22 Yehie #3452 & Fal7t Q. )8 94
3 F3E wel shed ¢ 424 o8 QD€ ' 7 Advh

(31) a. I predict that Jane will leave the room
b. I promise that [ will not smoke.
c. I bet that Jane will leave the room.

ST T2H FRYPL Tt AUA [ ol FAY AAVF AANAYD FYFAE
F4E 493 728 A8 Glabo)E 907} ofol A 49 F2E YA )
ok 22y fojslel ¥ RAE (3lbcls Ee] Yol &3 Yololuz FHd =
7t 2835 2y Gla) L3¢ T4 @84 459 P48 vehie 4948 7=
A Eoh7liche FUGolE FAZYH 23 S 148 & g 2 ol% e
FR0d G447 Feldta e PAdA BoFr) Aol 28y, FE 12
A o EE 3ta gvhs AL Fo4E guFerl? g€ T3] Ao, o (32)9] 4=
ole} FUSA 4HE v2 uj7} G Ftolch

(32} I conclude that nouns are verbs.

Eoh]e} A2 FAR thinksh knows] AT E o1& Bapol whslAelck 74, o
+ (339 dg 24,

(33} 1 think that you are wrong.
A8 Fx29 I think 59 Y€ 94 you are wrong?] B¢l ¢l FAEH
EFe AYEY Je& 7R A e ol 234AM o8 EF o}g NP 1
o] 7H&8t,

{34) You are wrong, I think.
a8 promise, betst &L TAES 4 (WAYE THL o3

Ye] AF o2 Eol7t B ‘o F' R 3 ‘Fn'E Hvle AL TS g

717 1 99 AvldEs df ()Y T EF EA%c

(35) a. Do you remember the man who bought your car? Well, he is doing first
philosophy course.
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b. Do you see that building over there? Apparently, it's sinking about a
foot a year.

AAZ (3a)9) (B)e] ARE PRE 7] A8 Fdo| opid} 47 & A7} ¥
& el omEid S fidl 22U $5 ke AL B Aotk B, vl
olv] 27k 71 ke ARE FAM FIINAM, 2 AEo] 5 wate oy
£ A% Ao 2 A 2olu giok (Bh)NAE, BAZE O 4FY ERYS Hstn
Qo1 F& deeld I ARE A F ok ol @ oA A £ d¥e o
& Ul gnfyA) YA g RoFE UL sYPdcin ¢ 5 o g 9Ee
HAYADT'E e 2EU 49 72 FU9 A2 d4sele A8 F2
€ Rejg ¥ 4 ok

olFA B o, +H3AE TR e FHE T4 qUo] $ALA ¥
promise, bet$t T2 A9H F2& £ £4 A34 & YA, predict, warn,
concludest F& 494 F2E @7 F49 223 FA4E Bolx Uk FA9
Agol $RFA €3 N2 & ddd 2AE Fa o

Y, BME YN Ste] dohe dA AR AWW oh G FPol, AEL
ZE HYE £ & 7Heol Aok wEA ARE FA7 @D deA, BEE
32 deA, T A E dn deAs UA 4N devd, § 23F oY
F 8t 71, ve (369 wEE s ¥ o,

{36) You are leaving.

(36)2 93] AAr) gy e W25 85 4 3, Bx J=27) dulel
o Bgesy oxd & glovn, B FAr wusieR] S ok g%
2 £ vk ok AR gEHAGY, A7 o DY ‘AEE F9Y F UL
ot (6)9) HAe AAtg) A4S 4T Aol

(37) The speaker is saying that the hearer is going.
ot HAE Yele] ¢ BEle] Fale] o] FAFeAl, WHAA opvd AEY
A e 27t A9ATF 2 HA vl FgE ooyt § ¢Ae] FER uigye] 4
Ay zeld ¥ 4 gk

3. HMEH ARSI HALo|
o 2AA Fake (B6)0] Ag, B7, T AT B9 FAYE AT S =9
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Bk & LA o] 38 AAY shEolA shule] A @2 #94 (llocutionary
force)& MHE?) ## H27) GFARE oFA ol §eherlEg P se] o}

Avtg o g Axie] 4 oA HANA FAEE MY BT E A BYst
ok et A A (ST dMol, FA7L wEA A A HE Ve £A B
dolojo} #itte HAML ohld thg (3B)Y A7t o] A& F el Fa 9d
(Blakemore 1992).

(38) A: What did Jane say?
B: The prime minister is never going to stand down.

(33)2} EAES EHE BY HAZE 2 gRely AE BA4E Ao) ohihs
Holoh. #2HE B4 Janeo] B# AL @D glon 2 BHE Janeo] T A&
A4S Fo2 o) Aotk FEMHot & AL o)Ho] 4A Janed] ¥ F& 2R
SHTE £& o otk £ Janeo] (38) BY ¥38 EAE vaxuh O
Y o (Ba) I (302 2§ &= BETL

(39) a. She will never stand down.
b. Mrs Thatcher? She'll never resign.

(38)o1 4 BY} L= 23 0) Janed] Uik@ Botvhe Aol o3 Jameo UHE R
49 Aotk 2A Janeo] (38) BY ¢E fHH I3 $A LS e AR F,
B w3li= Janeo] U3tsl FU Ao Yl /AT Y Molth e Janeol (V)
U (3%h)Y 23 S99, 1S4 o g 24 Aeloh agAT 2} ALl
t} BS] 27} Janeo] Wals} =213 F A8 gL TR HolA B8 |
o] 2R W £ FAM o) S8 ¢ Ao HEL 7H58in] o] AL oo A
g2 #4H Algela} Fc)

2449 AR A8 e A3 dus e o £Fe 2457 o8
Hi QeAE BAdeR degzix fokh o g (4008 48 B9,

(40) He's bringing a cheesecake. That's precisely what he said

e a2 feld 2|28 ¢ d4do] rhy 4 A AYET YER® 24
eg A A AN GV E precisely’t Do) &3¢ U A7 A T g1
E ZAY #9892 JAHLE WA QU o8 FAEE 7158 1 olE BEE
o (delA oldeAz AMgd
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(41) a. Apparently Nigel is in town.
b. Evidently Nigel is in towm.
¢. I guther that Nigel is in town.
d. They say that Nigel is in town,

S F (dlap)t A BNl (led= 498 Folth BE A7HE] B
& AGY o AFEo|, HAEo) HE AFSTHY HuE A$ doich 4DFH ol
shiiel A8 ¥ hAHhearsay particle)# 22| olUB 491E FRe) PAslo)E
ekl Sith

AR AN T2 AT g 9AH BEEAS) 4992 72, s
#ae 497 729 WA, 223 Ao Al AR 4833 FAE el
Aok WAL TS FHE A% AR RS SEE BUY o, A Fuol lxaA
Ao 4914 P22 BUSE S0 Yobrba sl & % ok

V.EZE

ol A7 PAYule] Fye mEE REEY /98 AR FJT WA @
gale] galelme FREL HFAHLE BYold HAFH & I4Y T2, P
Fo A, 23 FAMAN £Y T4 99 a9 Vo= wne) A4 34
g & e AL SlEgT ooz BYaA =21 4 e 7ieke] 99U ¥
AL 84 R YU Fol BEEX FET ol FS FA Y| el 7]E 3l
¢ 2o F3} 0|5 RF @ W] sis) 29E FA7 ¥ AR gHHE
dAat Bdo] gl

o HY T P49 PAu)g BYd oA HFEHAL )
T 7E, BE HAH =t 2 Hin. ol 484 808 7IHE ¥R, AR
7t gate] g B4E o A Hdoht BT E YA s FHE 72 ¥4 A
8l 1&g AARAT ¢ AojAgelA A doj9f HAA AL o] &Y 5
£ g, o] Ffols AR R4S A P2 Pyoz HEE 7 50EE AN
o

Haguiel gl L2 At YR LS /e AT, o] U
Edoh 98 AT o ANA T EEH §E Frejshol do oAl R, HRdE
BA & FAv]s) id3te] dojF &4 Alejolle A3 L odnjH 9 =2 @
A7} A Eojek grie Folok o]2X 2L FHou|g P B & gk

Foz, FAv 79 333 2d g2 G484 97t wEAd met 2 d
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T Ao g4 490 £98 SR vk 2 AL ElY ol Jo| SHY A=
Feolct. Ao HFAe] FHFH UGS A @5 do] 2 F PN B A7 HE
8 g&57]E€ 7|dect

HuzHE
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